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- 2. (10 points) Simplify the following expressions:
3 :
(1) cos(tan™’ Z)

(2) sin_l(%) + cos"l(%).

(Here sin™1, cos™1, tan~? denote the inverse trigonometric functions. )
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3. (6 points) Graph the function
)= .
fe) = 52

(You do not have to use accurate scales, but you need to make the x-axis, y-axis
and the asymptotes clear. Explain briefly how you get your graph.}
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4. {6 points) Compute the Hmit

hm(i— 21 )
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(The answer could be an explicit finite number, oo, —o0, or none of these three
cases. Justify your answer.)
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5. (6 points) Compute the limit

. VE—2
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_ (The answer could be an explicit finite number, co, —oo, or none of these three

cases. Justify your answer.)
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6. (6 points) Compute the limit
. ., L2 T —2
lim 22 { sin( )+ 23’“'"3 ;
30 3 +22" iz

(The answer could be an explicit finite number, oo, —oo, or none of these three
cases. Justify your answer.)
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